






























For successive trials with probability of success p

The number of trials required to get r successes

has the negative binomial destrabotion
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Exercise 3C

7 X Negative B r p

a
X Negate B 7,0 8

P x lo e f 0.86 0.23 0.8

0.1409

b constant prob and independent trials

c X B in b o p x 7 I pCXE6
l 0.0194
0.9806

d X B 290 8 p X E 4 o 1958

Negative Binomial Distribution
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a p x lo 4 xo 74 0.35 0 7
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b p KEG I P X 6

Y b I o y I P tea

P 7 Ea l O 5798
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c p X Els I PCX 15

Y BCF L I 6.722 10

O 9993P YEA

d p x iz Piece
O 0095y Nii D

Negative Binomial X Negative B r p
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Exercise 3D

7 b X Negative BCI
F x r 5,1 7 147

Var x r 5 l o n

OF 49

S d T JTa I 750

r p9 X n NegativeBC3 p

E x f
18 75 I p 0.16
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b OZ r l p
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3 1

98.4375
O 162

c X neg BCE Po za

E x Ip o.io 20.83

d P X 20 P tea

Y B 2 1.24 0.4561


